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BROT—49% AN THENEH D,

# (1, 4) ;;

- : int * int = (1, 4)

# ("January", 1, 31) ;;

- @ string * int * int = ("January", 1, 31)

# ("January", (1, 31)) ;;

- : string * (int * int) = ("January", (1, 31))
# let pointl = (3.0, 4.0) ;
val pointl : float * float
# pointl ;;

- : float * float = (3., 4.)

|| -

(3., 4.)



INY —> N v F (match X)

match IV ; with

N —> —> :_Etg
X, Z2ETL. ZOHERZ/NI—VERELILET
I_EEQ %%?ﬁg—éo

# match (3.0, 4.0) with
(a, b) -> sqrt (a *. a +. b *x. b) ;;
- : float = 5.

(a, b) 2DHD/INY—>
(a, b, c) 3DHDIXNFY—>



INY —> N v F (match X)

match IV ; with

N —> —> :_Etg
X, Z2ETL. ZOHERZ/NI—VERELILET
I_EEQ %%?ﬁg—éo

# let pointl = (3.0, 4.0) ;;
val pointl : float * float = (3., 4.)
# match pointl with
(a, b) -> sqrt (a *. a +. b *x. b) ;;
- : float = 5.



INY —> N v F (match X)

match IV ; with

N —> —> :_Etg
X, Z2ETL. ZOHERZ/NI—VERELILET
I_EEQ %%?ﬁg—éo

# let kyori pair = match pair with

(a, b) -> sqrt (a *. a +. b *. b) ;;
val kyori : float * float -> float = <fun>
# kyori (3.0, 4.0) ;;
- : float = 5.
# kyori (5.0, 12.0) ;;
- : float = 13.
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B BEHOBENZEZ. NVvYZERT S,
l B DAL DB ZIERRT %,
TVT7L—bh BET—Y%ZIEd59 match XZE<,
AR B AAKRZIERT %,

T AN E-> I-BADOEEZIER T %o




BETF—YDEHDTH A YL I

EXEPI-
B BEHOBENZEZ. NVvYZERT S,
l B DAL DB ZIERRT %,
TVT7L—bh BET—Y%ZIEd59 match XZE<,
AR B AAKRZIERT %,

T AN E-> I-BADOEEZIER T %o

[ &

REDRT7 TCREINTEEEZZ TR 5. REMNS
ZDEEX TOERMZRIFEYK kyori ZEHRE Lo




BBOBNZEZ. NV T Z/FlT %,

(x BEY  FRINSRITE - I EE pair FTOD
FEREZE KD D *)

(x kyori : float * float -> float x*)

let kyori pair = 0.0

[ &
REDORT7 TRINCERZR TR 5. RRN5

ZDEEX TOERMZRIFEYK kyori ZEHRE Lo




B DAL DB ZERT %o

(x TAKN %)

let testl = kyori (3.0, 4.0) = 5.0

let test2 = kyori (5.0, 12.0) = 13.0

let test3 = kyori (8.0, 15.0) = 17.0

)=

REDNRT7 TRENTCEFRER TR 15, BRRH5

ZDEEX TOERMZRIFEYK kyori ZEHRE Lo




BET—Y%ZId59 match XZ2E<,

IEREZE KD *)
(x kyori : float * float -> float x*)
let kyori pair = match pair with
(a, b) -> 0.0

[ &
REDORT7 TRINCERZR TR 5. RRN5

ZDEEX TOERMZRIFEYK kyori ZEHRE Lo




BET—Y%ZId59 match XZ2E<,

(x BEY ! FERHINSRITE - I EE pair FTOD
IEREZE KD *)
(x kyori : float * float -> float x*)
let kyori pair = match pair with
(a, b) -> 0.0

2DOMDF7>7L—b  match ... with
(a, b) -> ...
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BBAKZIERT %,

(x BEY  FRINSRITE - I EE pair FTOD
FEREZRDH D *)
(x kyori : float * float -> float x*)
let kyori pair = match pair with
(a, b) -> sqrt (a *. a +. b *. b)

[ &
REDORT7 TRINCERZR TR 5. RRN5

ZDEEX TOERMZRIFEYK kyori ZEHRE Lo
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# #use "kyori.ml" ;;

val kyori : float * float -> float = <fun>
val testl : bool = true

val test2 : bool = true

val test3 : bool true

[ &

EHDRT TCRENTCERZR TR 5. REHNS
ZDEEX TOERMZRIFEYK kyori ZEHRE Lo
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{(71—ILR%&, =

714—ILR%& 2
%ﬁﬁﬁf%?‘“—ﬁwﬁi Do
# ("asai", 70, "B") ;;

- : string * int * string = ("asai", 70, "B")
# {namae="asai"; tensuu=70; seiseki="B"} ;;

- : gakusei_t = {namae = "asai"; tensuu = 70;
seiseki = "B"}

# {tensuu=70; seiseki="B"; namae="asai"} ;;

- : gakusei_t = {namae = "asai"; tensuu = 70;

seiseki = "B"}



BFEER (type X)
type B! = ZDER

MULWRZEET %,

# type gakusei_t = {
namae : string;
tensuu : int;
seiseki : string;
Yo
type gakusei_t = { namae : string;
tensuu : int; seiseki : string; }
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T—YEER AHANDT—HYDEZEERT %,

B BEHOBENZEZ. NVvYZERT D,
il B DAL N DEZERT %o
TY7L—h #BET—Y%ZIE5T natch XZE<,
AR BB AEZIERT D,

TA K B> IcBBRDOIEZMERE T Do




T—IERDICHDODTH AL IE

T—YEER AHANDT—HYDEZEERT %,

B BEHOBENZEZ. NVvYZERT D,
il B DAL N DEZERT %o
TY7L—h #BET—Y%ZIE5T natch XZE<,
AR B A AR ZIERNT %,

PAP N B> TcBEB O EZMER T %,

[EIRE

FHEOBRET—YZXITE > 5. BEBRIX ZiIRT
A% tsuuchi ZEFEHET £,




AEAT—Y DBZEERT %,

(x T—HERER *)
type gakusei_t = {

namae : string; (x BH] %)
tensuu : int; (x RE %)
seiseki : string; (x FUiE *)
}
[EIRE

PHEDOBET —YZ2XRITH- 5. BEERHX ZiIRY
9% tsuuchi = EHT &Ko J




AEAT—Y DBZEERT %,

(x T—IER *)
type gakusei_t = {

namae : string; (x BH] %)
tensuu : int; (x RE *)
. . . =

seiseki : string; (x FUiE *)
+
(x ZETFT—TDH *)
let gl = {namae="asai"; tensuu=70; seiseki="B"}
let g2 = {namae="tanaka"; tensuu=90; seiseki="A"}

let g3 = {namae="yamada"; tensuu=60; seiseki="C"}



BBOBENZEZ. Ny T Z/ElT %,

(+x BN ZEOMET—Y 2T e 5.
BRI 2R *)

(* tsuuchi : gakusei_t -> string *)

let tsuuchi gakusei = ""

]2

PHEDOBET —YZ2XRITH- 5. BEERHX ZiIRY
9% tsuuchi = EHT &Ko J




B DAL DB ZIERT %,

(x TAK %)

let testl = tsuuchi gl = "asai SAIlF B TI"
let test2 = tsuuchi g2 = "tanaka SAIlX A TI"
let test3 = tsuuchi g3 = "yamada SAIlX C TI"
)=

PHEDOBET —YZ2XRITH- 5. BEERHX ZiIRY
9% tsuuchi = EHT &Ko J




BET—4Y %59 match XZ2E<,

(x BN 2EOMET—Y Z2XITW- e 5.
BIREAX Z1RY *)
(* tsuuchi : gakusei_t -> string *)
let tsuuchi gakusei = match gakusei with
{namae=n; tensuu=t; seiseki=s} -> ""

]2

PHEDOBET —YZ2XRITH- 5. BEERHX ZiIRY
9% tsuuchi = EHT &Ko




BET—4Y %59 match XZ2E<,

(x BN 2EOMET—Y Z2XITW- e 5.
BIREAX Z1RY *)
(* tsuuchi : gakusei_t -> string *)
let tsuuchi gakusei = match gakusei with
{namae=n; tensuu=t; seiseki=s} -> ""

Ld—kDF7>7L—h:
match ... with
{namae=n; ...} > ...




B ZRRT %o

(+x BN ZEOMET—Y 2T e 5.
BIREAX Z21RY *)
(* tsuuchi : gakusei_t -> string *)
let tsuuchi gakusei = match gakusei with
{namae=n; tensuu=t; seiseki=s} ->

nC v EAE s T
i

PHEDOBET —YZ2XRITH- 5. BEERHX ZiIRY
9% tsuuchi = EHT &Ko




B> IcBBDOIEZRERE T Do

# #use "tsuuchi.ml" ;;

type gakusei_t = { namae : string; tensuu ...
val tsuuchi : gakusei_t -> string = <fun>
val testl : bool = true

val test2 : bool true

val test3 : bool true

]2

PHEDOBET —YZ2XRITH- 5. BEERHX ZiIRY
9% tsuuchi = EHT &Ko J




FEH

m . LJ—K, (1, 2) {namae="asai"; ...}
m/\Y—>2NVYF, match =, with /\Y—2 > T
m WEXR, type B = {namae:string; ...}
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57075 LD, V75,

T—HYEER AHANDT—HYDEZEERT %,

BHH BHOEBNZEZ. NI ZERT S,
il B DAL DB ZIERRT %,
TY7L—bh BET—Y%Zd59 match XZE<,
AR B AKZIERT %,

TA K B> LB OB ZMHERE T Do




